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Contest #1





2014 - 2015





1.  Recursive Functions


Find � EMBED Equation.3  ���(14)   given:





             � EMBED Equation.3  ���


  Where [n] represents the greatest integer ( n


	� EMBED Equation.3  ���





4.  Computer Number Systems


What is the next hexadecimal number after A4716 to have the substring 10101 appear in its binary representation?





  








             	


	





What Does This Program Do?


What is printed when this program is run?


a = 48: b = 12: c = 0: d = -2: e = 3


if a/b = b/e then a = b/e


if a - b <= e^4 then b = e + c


if d*e < 0 then d = d * d else e = e * e


            if a/d = int(a/d) then a = a/d else c = d - b


if ((b+c<d*e) or (a*b > e*c))then d = b - a else c = e - a+ c


print a*(b+c)/e-b^e-c/(d+1)


end





	





3.  Computer Number Systems   


      Which expression evaluates to the larger number?  Express the 


      answer as a hexadecimal number.


158 + B1C16 – 1001102    or    AB816 + 1278 + 10002
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Recursive Functions


            Find � EMBED Equation.3  ���  given:


                          � EMBED Equation.3  ���
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